	3.3.2.32
	
	
	

	Tabla 3
	I = W/m2
	Localidad
	Mes

	
	441
	Granada
	Marzo

	 
	 
	 
	 

	Tabla 4
	t°a °C
	t°m °C
	

	
	13
	48
	

	 
	 
	 
	 

	ŋ = 0,8-5,4(48°C-13°C)/441w/m2
	

	ŋ = 0,371
	
	
	

	 
	 
	 
	 

	Tabla 2
	Energia H
	Localidad
	Mes

	
	15.2 MJ/m2
	Granada
	Marzo

	 
	 
	 
	 

	Energia aprovechada por el capatador
	

	0,371
	15,2
	5,6
	MJ/m2

	H = 5,6 MJ/m2
	
	

	 
	 
	 
	 

	Conversion de 100 000 Kcal
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	0,004184MJ
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100 000 Kcal *------------------- =
	418.4MJ

	
	1 Kcal
	
	

	 
	 
	 
	 

	Superficie necesaria:
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	418.4MJ
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	=
	74.71m2 =>
	75m2

	5.6MJ/m2
	
	
	


